
Multiply up to 4 digits by a two-digit whole number using long
multiplication

Calculate the following

  3 2 5 4

     3 5                                  

  6 3 6 9

     5 4          

  7 2 9 3

     4 4                                  

  6 8 2 5

     3 7          

In each row, circle the calculation with the smallest answer

2 1 7 9  x  9 3  =

4 5 9 9  x  6 8  =

3 7 8 6  x  5 3  =  

3 2 6 8  x  6 5  =

1 2 6 9  x  9 2  =

5 4 1 7  x  4 5  =  

9 3 1 0  x  3 9  =

3 4 5 2  x  5 1  =

2 9 7 8  x  6 4  =  

X X

X X



Spare page for calculations

Multiply up to 4 digits by a two-digit whole number using long
multiplication


